
B

B

B2

B2

C

E
F G

H

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

21 of 9420-150 7029-9986

Tools Required

Side Car
Installation Instructions

ACTIVE COMPONENTS®

#1 & #2

1/8”

Standing Desk Panel Mounted Desk

Drawer (Optional)

A2

B

D

A

#10-12 x 2-1/2" Flat Head Screw

(B2)

(B)

1/4-20 x 3/4" Flat Head Screw

(B)

1/4-20 x 3/4" Flat Head Screw

40mm Confirmat Screw

(H)

Scale 1 : 1

0 11/2
1/4 1/4

X

Y



B

B

B2

B2

C

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

22 of 9420-150 7029-9986

Standing Desk

1 A

B

B2

B3

#10-12 x 2-1/2" Flat Head Screw

(B2)

(B)

1/4-20 x 3/4" Flat Head Screw

2

X

Y

2

1



B

D

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

23 of 9420-150 7029-9986

(B)

1/4-20 x 3/4" Flat Head Screw

Panel Mounted Desk

B

3

B3



B

D

A2

A2

4

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

24 of 9420-150 7029-9986

Panel Mounted Desk

D

D

OR
RIGHT SIDELEFT SIDE



H

1/8"
Drill

40mm Confirmat Screw

(H)

5

Drawer Installation

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

25 of 9420-150 7029-9986

E

F

F1

F1

2

1

6 7

F1

F1

F2

F2



A

8

G

G

F2

F2

F

F

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

26 of 9420-150 7029-9986



Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

27 of 9420-150 7029-9986

A

J

E

9

10
K1

K

L1

L

POWER NON-POWER

2

2

3

1

#8-32 x 375" Screw

(E2)

Undercut

NOTE: Locate holes 
on bottom of cabinet 
and drill through.

1/8"
Drill

1

E

E1

#10-12 x 7/16" Pan Head Screw

(K1)

1
2

E1

3

DOOR PUSH LATCH ADJUSTMENT



11

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

28 of 9420-150 7029-9986

M

M1

M1

M2

1

1
2

Q

SHIMS ONLY WHEN NECESSARY

FRICTION TAPE ONLY WHEN NECESSARY

M

2

3
4

1/8”
MAXIMUM



12

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

29 of 9420-150 7029-9986

N

N1

P

(N1)

1/4-20 x 1/2” Pan Head Screw

#10 x 1/2" Pan Head Screw

(P)


